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3-6: Find an equation of the tangent to the curve at the point corresponding to the given value
for the parameter.
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9-10: Find an equation of the tangent(s) to the curve at the given point.
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11-16: Find y cmd d . For which values of t is the curve concave upward?
X

1. x= f+1, y=1+1 x({):z.t X”(a:z 12. x=r'+1, y=1 -1 X(O 5{1 X”(t)";{at

— ’ “ Ny iYe
%'@” g YW=l Y2 &t SRR Y=
* 72t | dr- 4% (Motk cif
a2y . zuz) -z . $=FE-2 . iﬂ 3D - (1Nt - LY 11 1ot
dic (2¢)? TR KT Tk PRTE

cet >0 Wt 4% < - bt L)< YD -
e o mE T G e
13, x=é', y=te x&) et X(t) et 14, x= t+1 y=¢ -1 x&) Z.t x”{t) Z

Y ‘te(l){—ﬂtm "W:041) o")- 3(24 C_{_(J 3'(0 et "t e
[ "‘U)Hlﬂt{(a) ) J 1d J

?:l:

N €0 L | . e € 2] 3
V(MJ ﬁ’a t)(,?{ ey (O (0 §t® 170

AN i?:t -5 { - Y% W‘ﬁ% WC’?‘MW}'; L0 s; ~t>ﬂ

clx_"f Afwa«w
X=2sinf, y=3cost, 0<t<2x 16. x=cos2t, y=cost, O<i<nm

[cc4~ ""“Lt@j K(0-Tuast, X'(0)- ~Tsint dy smt I X U=-gsugt X' (b)Yt

el """""""""""""" Y,,' -%Smt 3” = -30pSt dKT“"Z’"ﬁm”L’c Y'= -sint y"= - (oSt
57 2ot <[t | %
X Jost L2 ,.'i = (LsinTt)(-cosk) - (=51 nt ) (-4 cos 2b)
Py _ osb(3ust)-Canetsnt) | ¥ Ctsintp]®
;ﬂf Cleostd® | éa__u . [3Sin Tk st St o8 LzE)
LY = - beostt -loawn?e -((1) -|-3 A s & e

- 3 7 ———=§Sun(14)

ay> 8tos>L  Eeos*t _,E”f "ty ey | don '+ worry about e¢ |




AP Calculus BC
Parametric Equations: Finding Derivatives

Name

P,P,& VDay2

17-20: Find the points on the curve where the tangent is horizontal or vertical. If you have a
graphing device, graph the curve to check your work.
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21. Show that the curve x=cos/, y=sinscost has two tangents at (0,0) and find their
equations. Sketch the curve. X= 833 o
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23. Find the equations of the tangents to the curve x =3/ +1, y =2/ +1 that pass through the
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